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25,962
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AT20

A 1,200
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39,475

16,993

22,482

39,475
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15,282

25,075

A9,793

66,0002 162!
8,538,000&
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1,056
8,538
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3,360
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SN dotr=EAE A
B LZHHUNCSTIMNY(BLRE/NGEE - £3)
ool 22 Z2AY £X (cHel i el)
SN HB SR (BIH) - A - B S 0l &b S D=2
i 309,582
S2E ESAg =4 337,582 273,258 64,324
& 28,000
= 309,582
&= RX22| 244,582 199,258 45,324
201 ZEH2EH] 175,927 111,646 64,281
01 At 2eldl 175,927 111,646 64,281
Oget=EHl 172,777
0.0ts&=E A =ZZAx2 59,072
o AH=2=(H23l)
27,0003 * 23| » 71044 3,834
o XI5t==(24 13l)
245,500& * 13| * 22500 55,238
0.0t E32I M2 111,569
o B (EJIZAH
31,000& * 33| » 29670 & 27,528
o Hu(HES)
283,920& * 13| * 29604 & 84,041
0.2t =2Z A2 2,136
o ZIIZ At 50,000& * 4JH 4 * 53] 1,000
od 13 283,920 * 404 * 13 1,136
Or==i:] 7,000 902150 3,150
202 Oddl 12,240 8,160 4,080
01 =LAl 12,240 8,160 4,080
OJl=2g =30l 170,000 «62! 12 12,240
203 YRFLY| 4,000 0 4,000
03 AIMFAAHR =LY 4,000 0 4,000
Olt24=Eg2FA 2,000,000& 2,000
ONSMLE U BlaE SR
2,000,000& 2,000
206 M=l 28,415 27,452 963
01 MZHl 28,415 27,452 963
O=ZIAE H=HFAY 3,800
0.4 ¢ 1,400& * 1,00074 1,400
0.2 ¢ 900& 50074 450




EAM: Mot ZAIE A
By 2UNYHUNSSTIANS (HYES/MG4E - +T)
o9 922 ZIAY =X CRRE]
SA-EH O (BH) - HBAY - B2 Ofl A o4 gggf; HRS2
0.1¢ 6503 * 3,000 1,950
OllSM4E AS2 TE Y
35,000& * 150004 * 43| 21,000
OLrstE512 3,465
0.XIOILE AMUES (HA)
2802 * 600kg * 128 2,016
0.3A2ZII1(22H) 2,070& * 700kg 1,449
OFBYA SHAI(OT) 7Y
10,000& = 15Y 150
401 AIEHIZ 204 24,000 44,000 20,000
01 Al&H| 24,000 44,000 A 20,000
ObtSaxE ASAE &
400,000& * 500 A 20,000
O%%H HES (MM 3MA)
1,000,000& * 444 4,000
D24t E 22t E2E 93,000 74,000 19,000
= 28,000
iy 65,000
307 QIZtolA 93,000 74,000 19,000
== 28,000
2 65,000
05 0I2te&3 93,000 74,000 19,000
O0tSal=E D12t 22| ] 93,000,000& 93,000
< 28,000
= 65,000
MLEC AL (BB S /AGHEE - £3) 6,049,580 3,887,550 2,162,030
g 2,316,200
iy 3,733,380
Ot a2 2,632,400 1,295,080 1,337,320
i 1,116,200
iy 1,516,200
AR A EINAIS 2,232,400 191,660 2,040,740
g 1,116,200
iy 1,116,200
401 AlZHIZLE204Y] 2,232,400 191,660 2,040,740
g 1,116,200
o 1,116,200




S MGt AIYA
HH: AN (BIRS/MGEE - 2 E)
cel: Otsaxc e ced
i} _ _ bolEN=
2N -3 - c2(3H) - NEME - HES o @;OH Hl =2
01 Al&H] 2,224,363 190,280 2,034,083
OARD LT AMINAIS (11IHSDH)
2,224,363,000 2,224,363
= 1,108, 163
= 1,116,200
03 Al&=0iH| 8,037 1,380 6,657
OAFZ AT AIEINSFAL 2 OH
2,232,400,0002 = 0.36/100 8,037
= 8,037
P AT AMY 400,000 1,003,420 603,420
401 Al&HILLCHY| 400,000 1,003,420 603,420
01 Al&H] 397,120 997,120 600,000
OltSa 4T HEBHALY (62IHA)
198,560,000 198,560
Oltsa2E QANBL(LSEL)
198,560,000 198,560
03 Al&=0iHI 2,880 6,300 23,420
ONSALTIHE LAY SOHH|
200,000,0002 * 0.72/100 1,440
OlIS4+E SXNEH(ASES)
200,000,000 * 0.72/100 1,440
P 22l A Y 54,650 4,600 50,050
P C 2R AR ER 4,650 4,600 50
201 LEr2YH| 1,050 1,000 50
01 At222/H] 1,050 1,000 50
O=&l 1,050
0.KgaE AR =X
7,0002 * 391 x 50 1,050
202 04 3,600 3,600 0
01 =2LHOIHI 3,600 3,600 0
OJI=2d24d o]
100,0002 * 301 » 12% 3,600
FARAPS DA Z0IX| ALY 50,000 0 50,000
206 24l 50,000 0 50,000
01 24 50,000 0 50,000
ORNSAS KX 2 (RS EHIR2E)
50,000,000 50,000
BEAFS C ALY 3,362,530 2,587,870 774,660




SN ABET A
D ASCTA(BBRS/MGEE - +F)
CHol: KB A4 E A (Eh9): & 2
_ _ _ Muo
SN -EHH . (B) - MPAY - BE2 Ofl AF o4 il b o bRz
K844 S AbRY 2 1,200,000
2 2,162,530
Ngass Fy 1,862,530 2,567,870 A725,340
207 SAPINLY] 60,000 0 60,000
02 F&fel 60,000 0 60,000
O, 5t4E GIS PE NS (T4, 410t A
&) 60,000,0002 60,000
401 Al&HI L2 OH| 1,802,530 2,567,870 A785,340
01 AIZH 1,789,570 2,574,730 A785, 160
ONYNLTHIBA 1,094,610
0. QS = QISHA R (AIQHAID], 21D, &t
U2 YE) 694,960, 00024 694,960
0.NYALE HYST 24 2,530
o NI A+ E (122,672m ) 0 0
0 SHATI YA LT 253 * 10,0002 2,530
0.40H0E =S A2DHSA
397, 20,0002 397,120
OMOH S A & BaEES T A
694,960, 000! 694,960
03 Al&=CH] 2,960 13, 140 180
OX YL+ BA L] 7,920
0. 41Ot =QI50H 2
700,000,0002 * 0.72/100 5,040
0. 400222 DASALUY
400,000,002 * 0.72/100 2,880
OMOHES AR & 514E SBTARY
bl 700,000,000% * 0.72/100 5,040
AE MET YA LTSI TA 1,500,000 0 1,500,000
2 1,200,000
= 300,000
401 AlEHILL 0] 1,500,000 0 1,500,000
2 1,200,000
2 300,000
01 AlZH 1,494,600 0 1,494,600
OME METLASTHZ A
1,494,600,000% 1,494,600
2 1,194,600




SN AR AR
BB MACAY(BYRE/MOIEE - 4F)
CHol: KB A4 E A (Eh9): & 2
_ _ _ Muo
SN -EHH . (B) - MPAY - BE2 0 Ak o4 Sl ko HRE2
= 300,000
03 A& =01 5,400 0 5,400
OME MEX Y4 HT DALY
1,500,000,000& * 0.36/100 5,400
s 5,400
Sl RRl(BEES/AGAE - 2H) 3,239,300 1,010,900 2,228,400
ot=S ALY 3,239,300 1,010,900 2,228,400
ot=E2d 2,489,300 210,900 2,278,400
201 LEH23H] 2,500 2,100 400
01 At el 1,400 1,000 400
O= gl 1,400
0.5 45ee = 7,002 * 491 * 502 1,400
02 232944l 1,100 1,100 0
OZ2R3 2 HAl 1,100
0.ot===& 34| 1,100,000& * 13 1,100
202 O4Hl 4,800 4,800 0
01 =LHAHI 4,800 4,800 0
OJl=gd =80l 100,000& = 401  12& 4,800
308 XHXIEHHISOIF 1,000 4,000 £3,000
05 XXEH2UHREES 1,000 4,000 A3,000
OMSTHOIE st4E 2eld) 1,000,0002! 1,000
401 A&HIL RO 1,565,000 170,000 1,395,000
01 Al&HI 1,559,726 170,000 1,389,726
Oct=&=4d & RAE+ 50,000, 000& 50,000
O&rE G 2l Al & D] = &l & 55,000,000& 55,000
O&tEst=XelAld TMSE X 250,000, 000& 250,000
O£A2 BTOHEE HB4(3H4)
80,000, 000& 80,000
OFOIBOAY (BATAY)(5H L)
150,000,0002! 150,000
OSEGH4H2IT FHFHIALY
100,000,000& 100,000
ONEGHEH2IT FOUTRAL
230,000,000& 230,000
OBRTZRA &Sl SXISM
64,726,002 644,726
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EAM: Mot ZAIE A
XM G Bl (HYRE/MGAT - 4F)
&Rl ot ALY (Cro|: ® e
SAH-HH . () - MBEAY - BHA2 Ao gggf; HRS2
03 Al&20iYI 5,274 0 5,274
Odtx=E=4A JIEF2 THBI
1,465,000,000& * 0.36/100 5,274
402 SI2HX20] 916,000 0 916,000
02 OI2HCHEH A} 916,000 0 916,000
OSt=2C22AF B AIHAIS (KX
== 916,000, 000& 916,000
MEZ SIEEI|I2HESE 750,000 800,000 50,000
207 A IHEH] 750,000 800,000 50,000
TEEEEET 750,000 800,000 50,000
ONEZoIE=CZHD I 2HE S8 E2A
750,000,000& * 14l 750,000
HPES (Mot TAHA) (B EES/AGIEE - 22) 5,046,270 1,304,864 3,741,406
= 2,258,000
J| 514,000
= 172,000
o 2,102,270
WEHHXI = 4,659,795 938,561 3,721,234
= 2,000,000
J| 514,000
== 172,000
iy 1,973,795
MNrTAHES 1,342,795 534,000 808,795
701 JIEISIHE &2 1,342,795 534,000 808,795
01 JIEIZAHE=Z 1,342,795 534,000 808,795
OMATAUSHENHE 1,342,795
0.4 AIY M= 347,779,000& 347,779
0. AIEXI a4 EALSS 995,016,000%! 995,016
SsLAH2LII2SEE 3,317,000 404,561 2,912,439
= 2,000,000
J| 514,000
= 172,000
o 631,000
701 JIEISHE =2 3,317,000 404,561 2,912,439
= 2,000,000




FAN: ot AL A

Y HRES(Mot-SAMEL) (B ZES/MGE - =F)
&Rl WRAHHXS (el =
SN HB SR (BIH) - A - B S sk oy e 2
701 JIEISIHE == | 514,000
& 172,000
= 631,000
01 JIEtSIHEEZ 3,317,000
OHsL==HZCIISEEIIHEE 3,317,000
0.s0{Z=0tSot==CZHIAIS (28])

372,000,000 372,000

0.5 E0tSot==FUIAM
2,514,000,000& 2,514,000
2 2,000,000
bl 514,000

0.sHEOtSot=Z &I At
172,000,000& 172,000
< 172,000
0.330t=SFHIAY 259,000,000 259,000
NS 386,475
= 258,000
= 128,475
S A EHIAY A s 386,475
= 258,000
= 128,475
311 XL =0IAtas 124,475
= 84,000
i 40,475
06 JIEtXIE =0l At&f et 124,475
Odt==2Zt 1 ZHIALS O] XH4t &t 124,475,000& 124,475
2 84,000
2 40,475
601 XS atE 262,000
= 174,000
= 88,000
06 JIEI=UXLSI 2SS 262,000
Odt=ZHEHIAIS A S L& 262,000,000& 262,000
= 174,000
i 88,000
UBLNLAL (SRAL S/ =Y - =E) 850,000




SH ABIET AL
BB S BANLAY (S HSLA/ 5 - )
¢ =& MEEIHY CER:E
SAH-HH . () - MBEAY - BHA2 Ofl A o4 gggf; HRS2
g 680,000
iy 170,000
SE MEZY 850,000 850,000 0
g 680,000
iy 170,000
SESYMESHONY 850,000 850,000 0
rag 680,000
iy 170,000
401 AIZHIZLE204H] 850,000 850,000 0
rag 680,000
iy 170,000
01 Al&H| 843,880 844,645 AT765
OsZ=MEt SIS AL (50 A)
843,880,000 843,880
g 673,880
- 170,000
03 Al&SR0iY| 6,120 5,355 765
O=sZEMESHIHLAIL LY
850,000,000& * 0.72/100 6,120
iy 6,120




